20x% —ax—-9 = (4x-3)(5x-b) € W, a + b ] F=2 Fo}H?

®-3 @3 ®-1  @o ® 1

B

(4x = 3)(5x— b) = 2022 — (4b + 15)x + 3b
=20x%>-ax-9

3b=-9,b=-3

—(4b+15)=-3=a

a=3

“a+b=3-3=0




= & L AREel A ¢ A2

@ 972 = (100 - 3)% = 1002 — 2 x 100 x 3 + 3% = 9409
@ 51%x4.9=(5+0.1)(5-0.1) =52 -0.12 = 24.99

® 3012 = (300 + 1)2 = 300 + 2 x 300 x 1 + 12 = 90601
@ (V24 V3)(V2- V3) = (V2)* - (V3)? = -1

@) (VI - VE(VIT - VB) = (VID)? - (V2)? = 8

,@

~VI0 - V2)(VI0 - V2)
(= V3 - VI0)(- V2 + VID)
(-V2)? - (VI0)2 = 2 - 10
-8

|| [




3. x—47F5E A x2 4 ax+40, 3x2 - 10x+ b 9 FEQ Q4 o,
a-b o S F5HH?

® 3 @ 6 ® 0 @-3 @)-6

~&B !

x% +ax +40 = (x — 4)(x - 10)

SLa=-14
3x%> —10x+b = (x—4)(3x +2)
S.b=-8

sa-b=-14—(-8) = —6




@ 5

B

(x+2)(x-3)
(x=2)(x+3)

@x>-x-6
®@x*+x-6
@ x> +5x-6

(x+6)(x—1)

® x*-5x-6

(x=6)(x+1)




(x+2)2 - (x+2)(y—1) - 6(y - 1)2& A=h5tA?

D (x+3y-1)(x—2y+4) @ (x+2y+4)(x-3y)
® (x+3y)(x-2y) @) (x- 3y +5)(x +2)
® (x-3y—-4)(x-2y+1)

~&B

x+2=A, y—1=BZ X|35}H
A% —AB-6B% = (A +2B)(A - 3B)
={(x+2)+20- D} {(x+2) -3 -1)}
=(x+2+2y-2)(x+2-3y+3)

= (x+2y)(x=3y+5)




6.

(x% + 5x + 6)(x% — 3x + 2) — 252 & HI2A| U425

& 7

A

29

~&B

(x% + 5x+ 6)(x% — 3x + 2) — 252
=(x+2)(x+3)(x—1)(x—2)—252
={(x+2)(x = DH(x+ 3)(x—2)} — 252
= (x2+x—2) (x2 +x—6) — 252
x? 4+ x =t 2 X %o,
=(t—2)(t—6) — 252

=12 -8+ 12 - 252

=12 -8t - 240

= (t+ 12)(r - 20)

= (x% + x + 12)(x% + x - 20)

= (x> +x+12)(x —4)(x +5)




7. x=1+V2d 0 x2-2x-8 9 zr&?




Vi=a-10°]2, -1 <a<39 M, Vx+da+ Vx—4a + 8= 73]
SHH?

@ 1 @ 2 @3 @ ® 5

B

Vi=a-129 FHAE AFNA x = (a—1)?
Va2 +2a+1+ Va?2 —6a+9

= V{a+17+ /(a-3)

=la+ 1|+ |a - 3|

—a+1-a+3=4




vl

9. HeITEAE2A

5%
rlo

29

O xB3-x2+2x-2=(x-1)(x*+2)

@ xy-x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ x+1)-4(x+1)=(x+1)(x+2)(x-2)
@ab+1)-(b+1) = 1-a)1+b)

‘ ®ab+1)-(b+1)=(a-1)(b+1)




10. 15x7.62-7.42x15 9] Zre?

@ 55 @ ® 35 @ 15 ® 10

~&B

(£4]) =15 x (7.62 - 7.42)
= 15X (7.6 + 7.4) x (7.6 - 7.4)
=15%x15x%x0.2
=45




